
DESCRIPTION   ID. QTY.

1 3

1Windshield1

4

3

2 Special screw M5x15 + interior thread M5x13

Ø outer 15 x Ø inner 5x4 rubber washer 4

4

  MOUNTING INSTRUCTIONS 

Ref.: 7657

5

M5x0,5 Nylon Washer 4

DIN 7380 m5x16 Allen Screw 4

6 M5 ISO7380 screw cap 4

 WINDSHIELD ADAPTABLE TO 
CARENABRÍS KAWASAKI Z300

2
A

2
3

5
4

2

6

A

A Original Washer 5 6 lbf/in - Tightening torque

Shop for quality Puig products on our website. Buy quality motorcycle windshields & fairings in our online store.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/windshields-fairings.html



